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S A M P L E  Q U E S T I O N S  M A T H E M A T I C S

Q1. The following bar graph shows the number of T.V. sets sold by a
shopkeeper:
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Which day the shopkeeper sells maximum number of T.V.?
(A) Monday (B) Tuesday
(C) Wednesday (D) Thursday

Q2. Find the missing value.

Item Quantity Rate per piece Amount

Books 4 Rs 15 Rs. 60

Pen 9 Rs. 95.5 A

Geometry Box 7 B Rs. 385

Eraser C Rs. 2.25 Rs. 27

(A) A = Rs. 859.50, B = Rs. 55, C = Rs.12
(B) B = Rs. 759.50, B = Rs. 55, C = Rs.12
(C) A = Rs. 859.50, B = Rs. 55, C = Rs.14
(D) None of the above

Class 4



International Talent Hunt Examination

Diligent Publications 29

Q3. Find the perimetre of the following figure:

(A) 54 Cm (B) 56 Cm
(C) 58 Cm (D) None of the above

Q4. Write the mixed fraction and improper fraction to represent
the shaded portion of the following figures?

Mixed Fraction
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(D) None of the above
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Q5. Write the missing numbers.

FactorsNumbers

8 1, 2, 4, A
18 1, 2, 3, 6, B, 18
36 1, 2, 3, 4, 6, C, 12, 18, 36

(A) A=6, B=9, C=9 (B) A=8, B=7, C=9
(C) A=8, B=9, C=9 (D) None of the Above

S A M P L E  Q U E S T I O N S  S C I E N C E

Q1. Look at the following animal:

The above given animal’s feathers are covered with a natural
oil that keeps it  dry.
How does this feature help this animal?
(A) It keeps the body warm.
(B) It keeps the body cool.
(C) It helps to adapt the environment properly.
(D) None of the above

Q2. The following table shows the timing(approx) of sunrise and
sunset in Delhi during first three month of the year 2013:

Month Sunrise Sunset

January 07: 00 AM 05: 30 PM

February 06: 50 AM 05 : 45 PM

March 06 : 30AM 06 : 00 PM

What do you conclude from the above given table?
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(A)  The daylight hours is increasing every month.
(B)  The daylight hours is decreasing every month.
(C)  Both A and B (D)  None of the above

Q3. Look at the following figure:

If the water from the smaller jar is poured into bigger jar then
what changes will you notice in the water?
(A)  The volume of water will change.
(B)  The colour of water will change.
(C)  The shape of water will change.
(D)  None of the above

Q4.  In the following figure hot air above the land rises and cool air
above the sea blows towards the land:

   

What does the following figure represent?
(A) Land breeze (B) Sea breeze
(C) Both A and B (D)  None of the above

Q5. Look at the following figure:

When wind blows it turns the blades of the windmill. It helps to
produce the electricity. What do you conclude from it?
(A)  Energy has the ability to do works
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(B)  Kinetic energy of wind is used to turn the blades of windmill
(C)  The energy produced is renewable source of energy
(D)  All of the above

S A M P L E  Q U E S T I O N S  M E N T A L  A B I L I T Y

Q1. Which option will come in the blank space?

(8 ÷ 4)   (8 ÷ 3)   (8 ÷ 2)    ______    (8 ÷ 0)
(A) (7 ÷ 4) (B) (8 ÷ 5)
(C) (8 ÷ 9) (D) (8 ÷ 1)

Q2. What is the mirror image of the figure given inside the circle?

(A) (B)

(C) (D)

Q3. Find the next number in the following series:

A-4, C-12, E-20, _________.
(A) G-24 (B) G-28
(C) G-32 (D) None of the above

Q4.  Observe the following pattern and write the missing number:

19 55

36

23 87

 ?
(A) 64 (B) 54
(C) 44 (D) None of the above
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Q5.  Observe the following pattern and write the missing number:

7
11 132

84
    

?
6 72

108

(A) 8 (B) 9
(C) 10 (D) 11

S A M P L E  Q U E S T I O N S  E N G L I S H

Q1. Fill in the blanks with correct form of verb.

Yesterday I __________I_______(wake) up at  7am and
________II______(get) ready within half an hour. When I

_________III______(go) to school I __________IV________(see)
a man who was crying a lot.
(A) I- woke, II-got, III-went, IV-saw
(B) I- woke, II-get, III-was going, IV-saw
(C) I- wake, II-got, III-was going, IV-saw
(D) I- woke, II-got, III-was going, IV-saw

Q2. Write one word for the following:

1. One who is not found guilty.
2. One who is easily deceived.
3. One who serves the society.
(A) 1- Intelligent, 2- Gullible, 3- Social worker
(B) 1- Innocent, 2- Gullible, 3- Social
(C) 1- Innocent, 2- Gullible, 3- Social worker
(D) All of the above

Q3. Which one of the following has incorrect spellings?

1. Deal, Deeper, Hold, Suggest
2. Fight, Alike, Humgry, Told
3. Bravery, Jolt, Tease, Hook
(A) 1 (B) 2
(C) 3 (D) All of the above
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Q4. Fill in the blanks with suitable articles.

1. The Mount Everest is in_______ Himalayas.

2. ______ President of the United States was elected last year.

3. We spent a lot of time swimming in ______ sea on holiday.

4. _____ atheist does not believe in the God.

(A) 1-the, 2-the, 3-a, 4-an (B) 1-a, 2-the, 3-the, 4-an
(C) 1-the, 2-a, 3-the, 4-an (D) 1-the, 2-the, 3-the, 4-an

Q5. Change the following sentences into past tense.

1. You learn a lesson.
2. They walk in the garden.
3. You are watching TV.
(A) 1- You learnt a lesson. 2- They walking in the garden. 3- You

were watching TV.
(B) 1- You learns a lesson. 2- They walked in the garden. 3- You

were watching TV.
(C) 1- You learnt a lesson. 2- They walked in the garden. 3- You

were watching TV.
(D) All of the above

S A M P L E  Q U E S T I O N S  G E N E R A L  K N O W L E D G E

Q1. Who is called Iron Man of India?

(A) Bal Gangadhar Tilak (B) Sardar Vallabhbhai Patel
(C) Rabindranath Tagore (D) None of the above

Q2. In which one of the following states the Sun Temple is situated?
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(A) Orissa (B) Karnataka
(C) Kerala (D) Tamilnadu

Q3. Which one of the following is the largest state of India( area
wise)  ?

(A) Uttar Pradesh (B) Madhya Pradesh
(C) Rajasthan (D) Bihar

Q4. In the year 2011, India won the ICC Cricket World Cup by
defeating which one of the following teams?

(A) Pakistan (B) Sri Lanka
(C) Australia (D) England

Q5. Who Invented Aeroplane?

(A) Karl Benz (B) Alexander Flemming
(C) Wright Brothers (D) None of the above
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